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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15

E&PH (7.17) R

AriE) | BRI (D) | EHME (EH/HK) | XK ERR
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23t 4245.0 (15)%) 2250. 0 3253 %EC: 2080.0, PH: 5.5

[E&REC 6813.0 K5, EiNF{KECAE & P%ER
HEEIHECE (2220.0 vs 6813.0) 5
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P3-15

BYiE) | GEBIRTIK (D) | EME (EAH/#K) | XS SRR
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24t]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.5

FEREHEME STEAEARST (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (278:30.0), set to 278 ml.
E;&PH (7.33) R

[E;REC 6607.0 K&, EiFAIRECAE &M AR

#[ERECE (2323.0 vs 6607.0) 35
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42.

44.

44.

43.

43.

42.

T
400

T T T
600 800 1000

m=600,m FV0=0

—— MW

665 GiO
m=740,n FV0=0

—— MW

7&5 750
m=860,n FV0=0

740

-o— MW

860 865 870

43.

43.

42.

42.

41.

41.

44.

44,

43.

43.

42.

42.

44.

44,

43.

43.

42.

m=435, FV0=0

40

39 A

38 A

37 A

M_W

440 445
m=635,m FV0=0

435

—— MW

GAO 6&5
m=770,n FV0=0

—o— MW

755 7é0
m=895,n FV0=0

770

-o— MW

895 900 905

43.

43.

42.

42.

41.

44.

44

43.

43.

42.

44.

44

43.

43.

42.

m=475, FV0=0
—o— MW
42
411
40 1
475 480 485
m=670,m FV0=0
37 —— MW
0 -
5 -
0 -
5 -
670 675 680
m=800,m FV0=0
5 —— MW
.0
5 -
0 -
5 -
800 805 810
m=935,m FV0=0
5 —o— MW
.0
5 -
0 -
5 -
935 940 945




m=975, FV0=0 m=1040, FV0=0

—— MW —— MW
44.5 - 44.0
44.0 - 43.5
43.5 43.0 1
43.0 - 42.5 7
42.0
42 5 T T T T T T T T T
975 980 985 1040. 0 1042. 5 1045. 0 1047.5 1050.0 1052. 5

m m
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P3-15

FfiE) | EBIATIE (FD) | EBE (BEA/HK) | XS ERE

06:55 283 150.0 AE| 1Ri%&e06:55 H#i (RFERS)
07:30 283 150.0 5| {Ri%@07:30 Bzl (KREAEESE)
08:20 283 150.0 RS {Ri%e08:20 B (RFEAERHEE)
09:00 283 150.0 B {BRi%@09:00 Bz (GRPMERE)
09:35 283 150.0 RS 1Ri&e09:35 Bah (FEEESE)
10:15 283 150. 0 S| Ri%@10:15 Bz (REERESE)
11:00 283 150.0 RS Ri%e11:00 Bz (REERESR)
11:40 283 150.0 el Rige11:40 Ba (REEESE)
12:15 283 150.0 el Rige12:15 Bz (REAERSE)
12:45 283 150.0 B Rige12:45 Bz (REAERSE)
13:15 283 150.0 Bl Rige13:15 Bal (REAEESE)
13:45 283 150.0 B 1Rige13:45 Bzh (REERESE)
14:15 283 150.0 BS| 1Rige14:15 Bz CGREEESE)
14:45 283 150.0 B 1Ri%e14:45 Bzh CGREMERESE)
15:15 283 150.0 B 1Rige15:15 Bzh (REERSER)
15:45 283 150.0 BS| 1Ri%e15:45 Bz CGREEESE)
16:15 283 150.0 e Rige16:15 Bzt (REERSE)
16:50 283 150.0 B 1Rige16:50 Bzh (REEESR)
24t]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.5

TERRHLER 2 STEEARTF (184.0 :

BRIASCRRIZERE147. 0 ml.
BI&PH (7.17) RS

147.0), AlEEHT—R % XA HS

[E&EC 6360.0 K5, #iYF{KECAE&PikER

Bl /&HECZE (2400. 0 vs 6360.0) I 5




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=58 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
V1, VO #RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576

2100
100 2000 857 L 2000

50 A - 1000

FRV (ml d-1)

124 Warning: lcol ['FVI',|"FVO'] missing 176

<

=

m
=

200 ( -
maxM -} 34

150 A R \ NN L]

100 + : NN 1}
R— ! LT

50 - H

- 32 2

- 30

1.0 28

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing

- 4000
Bylnit @D60 01:59: ET=2153 Fg=2700.0 Ro=590.0 t

300 - 3000

200 - - 2000

- 1000

;

cumET (ml/plant)

100 A
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200 - ! - 2000 E
I 5
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0.4 1
0.2 A

|
| _obs
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m=450, FV0=0 m=495, FV0=0 m=535, FV0=0

33 1 —o— ME —o— ME 35 1 —o— ME
34 -
32
34
33 -
31
33
30 32 -
29 - 32 4
—e— ME a1
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 535 540 545
m=590,m FV0=0 m=635,m FV0=0 m=675,m FV0=0 m=710,m FV0=0
- ME —o— ME | 3404 - ME —o— ME
34 - 34
33.5 - 34 -
33.0
33 - 33
32.5 33
32 32 - 32.0 1
32
31.5
31 L T T T 31 L T T T 31 : 0 B T T T T T T
590 595 600 635 640 645 675 680 685 710 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
- ME —o— ME - ME —e— ME
34.5
34 -
341 34 1 34.0 -
33.5
” 33 -
33 1 33.0 1
39 32.5
32 39 -
32.0
745 750 755 780 785 790 820 825 830 855 860 865
m=890,m FV0=0 m=930,m FV0=0 m=980,m FV0=0 m
.04 - M_E 35.0 - M_E 35 —— M_E - M_W
.5 34.5 441
.0 34.0 - 341
42 -
.5 33.5
33 -
.0 33.0 40 -
.5 32.5
32 4 38 -
- 0 B T T T 32 0 - T T T T T T T T T
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39 -
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T T T 40 0 B T T T
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5 -
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5 -
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0 -
41.5 +
5 - T T T T T T
780 785 790 820 825 830
m=930,m FV0=0 m=980,m FV0=0
5 —
—— MW 45 0 - —— MW
0 -
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5 -
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0 -
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5 -
43.0
0 -
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P3-15

BfiE) | EBIATE (FD) | EBE (BEA/HK) | XS SRR

07:10 283 150.0 (& =| 1Ri%e07:10 Bzh (kBERESE)
07:40 283 150.0 (Z=| {Ri&e07:40 Bzl (GRAMEESE)
08:10 283 150.0 R5| {Ri&e08:10 Bzl (RFEERSR)
09:00 283 150.0 (& =| 1Ri%@09:00 Bz (kBERESE)
09:35 283 150.0 |Z=| 1Ri&e09:35 Bzl (kEA{EEEE)
10:15 283 150.0 (2 =| 1BRi%e10:15 Bzl (kBFERSE)
11:00 283 150.0 |Z=| 1Rige11:00 Bzl (REB{EEE)
11:40 283 150.0 |Z=| 1Ri%e11:40 Bzh (GREMERESE)
12:15 283 150.0 (2 =| Bige12:15 Bz (kAFERSE)
12:45 283 150.0 (B =| BRige12:45 Bz (kBFERESE)
13:15 283 150.0 FA| {Ri&e@13:15 Bzl (GkAEEEE)
13:45 283 150.0 FA| 1BRi&@13:45 B3 (RAERSE)
14:15 283 150.0 FA| 1BRi&e14:15 B (RAERREE)
14:45 283 150.0 FA| 1{Ri%e14:45 Bz (RAERESE)
15:15 283 150.0 | =| {Rige15:15 Bz (GRBEEE)
15:45 283 150.0 |Z=| 1Ri&e15:45 Bz (GRB{EREE)
16:15 283 150.0 (& =| 1Rige16:15 Bzh (GkBERSE)
16:55 283 150.0 | =| 1Ri&e16:55 Bz (KRPBEEE)
24t]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.5

FEREHEME STEAERT (184.0 : 147.0), AIEEAT—@E XAHAE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (258:3.0), set to 258 ml.
BI;&PH (7.17) /e

[E;&EC 5967.0 K5, EiNFA{RECAERAIEER

#[ERECE (2393.0 vs 5967.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=57 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576 N
2057 2000 0%

100 11700 - 2000

447

50 A - 1000

20 Warning: lcol [FVI',| "FVO’'] missing 124

(¢
200 -
150 -

100 A

50 -

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing

- 4000
7

Bylnit @D60 01:59: ET=2127 Fg=2550.0 Ro=518.0

- 3000

- 2000

- 1000
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300 1 ByWoFv @D60 01:59: ET=2237 Fg=2700.0 Ro=540.0

- 1000
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32 -
30 -
—o—
T T
800 1000
m=595,m FV0=0
34 - ==
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31 -
T T T
595 600 605
m=770,m FV0=0
—o—
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32 -
31 -
770 775 780
m=920,m FV0=0
_._
34 -
33 -
32 -
920 925 930

34.
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33.
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32.

32.

31.

34.
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33.

33.

32.

32.

31.

m=460, FV0=0

32 -
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30 A

29 A

T T
465 470

m=645,m FV0=0

34 -

33 A

32 -

31 A

T T
650 655

m=800,m FV0=0
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0 -
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5 4

0_
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m=495, FV0=0

34 -

33 A

32 A

31 A

——

T T
500 505

m=695,m FV0=0
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30 A

T T
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m=835,m FV0=0

34 -

33 -
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m=1020m FVO=0

5 4

0_
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1025 1030

m=545, FV0=0

34 -

33 A

32 A
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m=735,n FV0=0
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32 -

31 A
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32 -
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880 885
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38 -

800
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40.
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4é5 4;0
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i

6%0 655
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41.

m=495, FV0=0

41 -

40 -

39
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m=695,n FV0=0

—— MW
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m=835,n FV0=0

—— MW
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-— MW

1020

1025 1030

42.

42.

41.

41.

40.
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m=545, FV0=0
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:10 288 150. 0 RS 1Ri&@07:10 Bz (REEESE)
07:50 288 150.0 RS {Ri8e07:50 Bz (REERSE)
08:30 288 150.0 RS {Ri&e08:30 Bzl (RFEMERE)
09:15 288 150. 0 S| Ri&@09:15 Bzl (REERESE)
10:00 288 150.0 |Z=| 1Ri&@10:00 Bzl (RKEB{EEE)
10:45 288 150.0 | =| 1Ri&e10:45 Bz (KRBEEE)
11:25 288 150.0 BE| Rige11:25 Ba (REAERSE)
12:05 288 150.0 e Rige12:05 Bz (REAERSE)
12:40 288 150.0 S| Rige12:40 Bzl (REAERSE)
13:15 288 150.0 RS {Ri&e13:15 Bz (REERS)
13:50 288 150.0 BS| 1Ri%e13:50 B (GREMEEEE)
14:35 288 150.0 S| 1Rige14:35 Bzh (REEESR)
15:30 288 150.0 B Ri&e@15:30 Hah (REAERSE)
16:35 288 150.0 BE| 1Ri%e16:35 Bz (REERSE)
23t]4032.0 (14%) 2100.0 32933 KEC: 2080.0, PH: 5.6

FEREHEME STEAEARST (187.0 : 150.0), AIEEAT—@%E XAHE
ZRIASEBRIEBE150. 0 ml.

large discrepency for begining water status (245:3.0), set to 245 ml.
[B;&EC 5543.0 K15, EINFARECAER HitER

BE[EIRECE (2370. 0 vs 5543.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=56 (2025-05-26)

T e g g S S B S
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[= 2N -]
L )

150 A

100 A

VI, V&*8RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2000
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40 Warning: lcol [FVI',| "FVO’'] missing

1700 166698

a1
o
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1.0

Warning: lcol ["WC1',  "WC2'] missing

2057

- 2000

- 1000

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=445, FV0=0 m=495, FV0=0 m=540, FV0=0
35 4 33 -
34 - 34 1
32 _ 34 N
33
33 4
32 1 31 1 33 1
31 A
30 32 +
30 A 32
29 - 29 1 31 A
T T T T T T T T T T T
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